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/ General Instructions to Candidates : \

mdcguoemBUd:

There is a 'Cool off time' of 15 minutes in addition to the writing time of
2% hrs.

You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

Use the 'cool off time' to get familiar with questions and to plan your
answers.

Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from
the same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.
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1. The science of study of values

a) Epistemology
b) Axiology
c¢) Metaphysics

d) Ontology

2. In a contradictory proposition of

'A' 1s true, then 'O' 1s ............
a) true

b) false

¢) doubtful

d) none of these

3. Find the mood of the following
syllogism.
All politicians are idealists.
All social workers are politicians.
~.All social workers are idealists.

4. 'If price of commodities

increases, crime will Dbe

increased'.

The given statement can be

symbolized as ..........
a) p.q

b) pva

¢) pP2gq

d) p=q
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All politicians are idealists.
All social workers are politicians.

~.All social workers are idealists. (1)
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'If price of commodities
increases, crime will be

increased'

a) p.q

b) pva

c) P24q

d) p=q (1



5. 'Some glitters are not gold'. Find
the term distributed in the given
proposition.

a) Subject
b) Predicate
¢) Both are distributed

d) Neither are distributed

6. a) Find a valid conclusion for

the following syllogism.

b) Find the major term of the
syllogism.
All animals are carnivores.

All tigers are animals.

7. The term, 'Research' comes from

the French word ................

8. Compare Logic and Psychology.

9. The two parts of a hypothetical

proposition are ......... and ...........
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'Some glitters are not gold'
a) Subject

b) Predicate

¢) Both are distributed

d) Neither are distributed
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All animals are carnivores.

All tigers are animals.
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10. Prepare a chart on the modern

11.

12.

classification of propositions by
making the use of the hints

given.

(Relational / Class-membership /
General / Subject-predicate /
Alternative / Disjunctive /
Conditional / Conjunction /

Simple / Compound) (2)

Examine the requirements of

(2)

sound observation.

a) Change the following
proposition into other three
forms of categorical

propositions.

'All birds are feathered'. (1)

b) Find the distribution of
terms with the help of

3)

Euler's circle.
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13. Match it correctly. (4) | 13. c2inpals] 6oIdoee:. 4)
a)  Method of Tenacity 1)  Whole is greater than part
OOBODOU 63000 SMOMUIG] QILIOUMD BONEODHHIWD QLI
b)  Method of Intuition i1) All objects gravitate
OOBEMOU Bl MU Qg)RJ0 AUMmEe8lo BIAIRERIEE)
@YBOaHlHOHOQ SN}
¢)  Method of Authority 111) Sheeba believes that Tuesday is an

unlucky day
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alluajaileeyomy
d) Method of science 1iv) Walk only through footpath
OGO 60l QMY MSQ|O®WQIM HIOS M@0 MSHOIH
14. Explain J. S. Mill's method of 14. J. S. Mill o) eneemdU 8oad
agreement with the help of og)Deadd MWoealogles
symbolic example. (3) 9B2a0EEMEDIOMR MWaDIWEEMIOS
alludlees. (3)
15. a) What is the meaning of the 15. a) Alawdal agom aesion @dmao
term research? (1) ag)OmOem? (1)

b) Examine the qualities of a b) &0y Mgl Arvdafend malemaum

good research. (3) SR 2g)6 MO OO M N’

HONBODT ag)PIOb. (3)
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16.

17.

18.

19.

20.

21.

Compare induction and

deduction.

Briefly explain the salient

features of research.

a) The meaning of the term

observation is ..........

b) Examine the requirements of

a sound observation.

Differentiate between method of
difference and method of

residue.

Why do we consider 'Logic as a

science'?

Distinguish between simple

constructive dilemma and
simple destructive dilemma

with symbolic example.
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22. a) Symbolize the following

statement.
'Either Titanic is a ship or a
movie'.
b) If p is given as true
q 1s given as false
R is given as true

Find the truth-value of the

following.
i) (pvq)-R
ii) (p2q)-(RvVR)

(Rv
iii) (R-q)v(p>q)

23. Write an essay (not exceeding
200 words) on what i1s a
hypothesis and what are the

characteristics of hypothesis.
OR

Write an essay on different

types of hypothesis.

24. With the help of a diagram
square of opposition, find the
four

relation between

categorical propositions.

(1)

(5)

(8)

(8)

(8)

22.

23.

24.
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'Either Titanic is a ship or a

movie'.
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q oy false o
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i) (pvq)R

ii) (poq)-(RvR)
iii) (R-q)v (p>q)
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